Control Overview

Most ccme(q\\\\, Ao gt ok 2N cordrdle R 4y vk 6 Mg &y et W vt i

_@_'- What's e S‘«v\dos\ comtrler 40U CG Yonk, o7
0) N0 Con‘\'m\ — yﬁ'\ Auin 08 ond 90 (ﬂl\ costection (’fmf\,(’lf'B

) oﬂoq‘ uadocal B Pie Corhone
:ﬁfﬁiﬁﬁgmf if (temp > desired temp){
turn AC on;
else {
turn AC off;
}
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Basic Feedback Control
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The "textbook" version
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Proportional Control
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Proportional Control Example
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Proportional Control Example (cont.)
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Proportional-Derivative Control
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Proportional-Integral-Derivative (PI1D) Control

AGB an 'wé&(ga\ Q&‘\*ﬂ\\(’r o Rwee 5*&2}\\-3\63( ermr
Q Tk Conrn) *
°f§¢3\.‘ ool e W 3 Y o i G \arop-eragn Wee o it awichne actitn

F) = ke ke k(@ e(%c\:X = Aedlowm) + k(g x) ¢ \qH(xo\-y)a:J
S, ety E,C. sf  Potion:
e ot ks ko) » (g + k({S(xd-g@

s (crlkay + (ko = WXt = Yot kg e Jaoh

Toe e Lodos Transfom:
(s (k) + S8 = Dhas s SO e ity 1y s
o () (s e - [l ok o

M _ kS Yes+ k¢ Clos® ot
%) S (cdd)o (s 4y Yronsler fundlion

1.27 \49: 150

1.0} kg = &5
A \ = 200

Position (m)
o o o
H~ (@)} (@)

=
)
I

=
=)

Time (s)



PID Trends
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Questions to Answer & Things to Consider
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